> fi=x— X
i fi=-x+x )
_This is a text region. Assignment 1. Michael Monagan
What is the derivative of In(x) is %

=> g := 1ln(x);

N g = In(x) Q)
[A comment
> h := x*exp (-x) ;
] hi=xe” 3)
> int(f,x)+C;
%mﬁ—x+c @)
> diff(g,x);
1
— )]
B X
(> (h,x);
i ~(x+1)e™ (6)
[> plot(f,x=-1..2);
-1 1 2
~0.51
_1.
-1.51
—3 _2-
> solve( diff(f£f,x)=0, x );
1
> (7
> solve (£=0,x) ;
i 0,1 ®
[> int( £, x=0..1 );
1
3 )]
> £ := exp(x)*1ln(x)/(l-exp(x)) ;
(10)




r= e1 iy (10)
—¢€
g := diff (f,x);
X X X 2
_ ¢ In(x) n € n (e ) ln(z) a1

g := simplify(qg);

g = : (12)
(—1+eﬂ X
h := int(g,x);
po=- 0y (13)
-1 +¢
simplify( diff(h,x) - g );
0 (14)
S := sum( i*2, i=l..n );
n+1)°  +D? a1
S = 3 - ) +g +E 15)
n
> (i)
i=1
m+1)* n 1 16
2 2 2 (16)
factor (S);
nn+1)2n+1)
- (7
eval (S,n=3) ;
14 (18)
binomial (4, 3) ;
4 19
seq( binomial(4,k), k=0..4 );
1,4,6,4,1 (20)
sum( binomial (4,k), k=0..4 ) ;
16 (21)
sum( k*2*binomial(n,k), k=0..n );
2" n 2"n(n—1)
> + 4 (22)
30/24;
5
. (23)
iged(30,24);
6 (24)

sqrt(8.0) ;
2.8284271250 (25)



1n(8.0);

f := sin(Pi/3);

evalf (£,20) ;

f

x*-1;

g := x"3-1;
f+g;
2*f-3*qg;

expand (f*qg) ;

simplify (£/g) ;

gcd(£,9);

h := x*2-x+1;

£f/h;

q := quo(f,h,x);
r := rem(f, h,x);

zero := £ - (q*h + r);
zero ==—(x2 —Xx+ 1) (x2 —|—x) +x4 +Xx

expand (zero) ;

q :

R
I

2.0794415420

V3

fi=2

0.8660254038

f==f4—1

gtzgé-—l

A -2
2x =3 41
X —xt =41

x+1) (P +1)

quo (f,h,x,'r');

rem(f, h,x,'q');

x24-x4—1

x —1

x2——x-F1

q ==x2+x

ri=-x—1

0
q==;g-+x
-x — 1
r=-x—1
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(44)



X +x 45)

£;
Pagey (46)
solve (£=0,x) ;
1, —1,1L —I @7
I*2;
—1 (48)
(I+2) * (I+3) ;
5451 (49)
factor (£f) ;
x—1) x+1) (> +1) (50)

?solve



